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Section 1 - Reasoning

No. of Questions: 50

1) Select the alternative that will replace the question mark in the given analogy.
459 : 954 :: 387 : ?

A) 983
B) 783
C) 939
D) 700

1) 39 [dhed &7 TIaT Y T feT a0 Ireey & wed g & giaeaiiad #m|

459 :954 :: 387 : ?

A) 983
B) 783
C) 939
D) 700

2) Select the alternative that will replace the question mark in the given analogy.
25:5::169:7?

A) 9

B) 11
C) 13
D) 18

2) 39 faheq &1 TTeT Y ST ST T ATeed & U faget ol gfaeeniid S|
25:5::169: ?
A) 9

B) 11
C) 13

Pagel10f90



Setld : 61775 3 Technical Assistant (LAB) - Bio-Chemistry BATCH1 180CT2020

D) 18

3) A number P is a least two digit number such that it leaves 2 as a remainder in each case when
divided by 4, 3 and 8. Find the number P.

A) 26
B) 42

C) 29
D) 48

3) HEAT P Ueh #gsTciA &l bl HEAT &, it 4, 3 3R 8 GaRT ATl glet I Tedeh HATHe H 2 A9 &
T H ST | TEIT P &Y ATd HY|

A) 26
B) 42
C) 29
D) 48

4) Observe the given series.What number should come next in this series?

32, 31, 33, 32, 34, 33, 35, 34

A) 36
B) 32
C) 33
D) 35

4) & 378 @l T ANETOT Y| 38 H@oll 7 MY leT A HEAT AT ATFT?
32, 31, 33, 32, 34, 33, 35, 34

A) 36
B) 32
C) 33
D) 35

5) W is half of J. J is double of K. K is 109. The value of "W" is
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A) 108
B) 219
C) 109
D) 218

5) J o1 TEM W 1 K ST &[T J &1 K o1 #HTeT 109 §1 "W" T HTeT fehelall §72

A) 108
B) 219
C) 109
D) 218

6) In a certain code, MOUNTAIN is coded as NIATNUOM. What will be the code of the word
MGSFFJSK?

A) KSIFFSEM
B) KSIFGTGM
C) KSIHFSGM
D) KSJFFSGM

6) T fA2ra T # MOUNTAIN & NIATNUOM % &9 & % a3 AT JTar g1 458 MGSFFJSK T &
AT ZRI?

A) KSIFFSEM
B) KSIFGTGM
C) KSIHFSGM
D) KSJFFSGM

7) In a certain code, PARAS is coded as QBSBT. What will be the code of the word NGTTY?

A) OHUZU
B) NHUTY
C) OHUUZ
D) OHUTZ

7) T 4% %2 ¥ PARAS &1 QBSBT % &9 # %2 a5 {471 STt g1 o158 NGTTY 7 F2 #7212
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A) OHUZU
B) NHUTY
C) OHUUZ
D) OHUTZ

8) A image is given on the left with a pattern. Which of the four images on the right does NOT have
the pattern of the left image as its part?

g LAY |

1 2 3 4

A) 1
B) 2
C) 3
D) 4

8) 98 31 Ueh UeeT o TTY Teh T &1 915 g | &8 3R ol IR =t # & forast a8 e a1 1ot 7181 872

g LAY |

1 2 3 4

A) 1
B) 2
C)3
D) 4

9) Find the odd one out.

A) Car : Vehicle
B) Iron : Metal

Page40f90



Setld : 61775 3 Technical Assistant (LAB) - Bio-Chemistry BATCH1 180CT2020

C) Chair : Furniture
D) Door : Window

9) fTavH AT FIfFT|

A) I digdd

B) aier: SIG|

C) S8 Bl
D) axare: fagdhr

10) You are given a statement.
Statement : Today is NOT Monday.

Which of the following questions can be answered by using the given statement?

A) Is it a Wednesday tomorrow?
B) Is it a Tuesday tomorrow?
C) Was it a Saturday yesterday?
D) Was it a Friday yesterday?

10) 37T9ehT Ueh hUeT T 31T g
HYeT: 3Tl AIHAAR I8l

feT 37T FUT FT ITIRT b [AeT F F i T Y27 T 3AX AT ST TeheT &2

A) T el JUAR 82

B) &1 sl FHeToIaR §7

C) &1 FoeT AR AT?

D) arr et ergFar ar?

11) What will be the 60% of a number if 80% of that number is 160?

A) 90
B) 120
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C) 140
D) 150

11) fordlT TEaT FT 60% FAT BI9TT, 379X 3T TE&AT T 80%, 160 &2

A) 90
B) 120
C) 140
D) 150

12) Pointing to lady, Raju (Raju is a male) said ,"She is the daughter of the wife of my son's father."
How is the lady related to Raju's wife?

A) Sister
B) Mother

C) Daughter
D) Daughter-in-law

12) Teh AT I 3R SURT HLd gx, TS, (Y151, Th 92 &) o e, "dg A 9¢ & o o Teelt Sy S g1”
AT o] T Tt § H8 Fard §72

A st

B) &t

C) sér

D)aE-

13) If 'Son' is related to 'Daughter’, then 'Brother' is related to

A) Aunt

B) Sister
C) Father
D) Friend

13) Ife Ser '9Er § Gt g, df '8’ fohad efad g7
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A) Ty
B) gaeT
C) Ryar
D) areqr

14) Find the cube that can be formed by folding the sheet shown below.
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)
o

B IOV
-

o ¢l

[
D) f'j

15) Among the given group of 4 images, which set of images can be classified as a group?

A) (1, 2, 3)
B) (1, 2, 4)
C) (1, 3, 4)
D) (2, 3, 4)

15)
R0 T 4 =t & a9 | ¥ fohd aqga =l &1 0% 998 & €9 § a¥(i6d a7 ST 9dT 872
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A) (1, 2, 3)
B) (1, 2, 4)
C)(1,3,4)
D) (2, 3, 4)

16) Which of the following options is the mirror image of the given figure?

E
r
\

16) FmmEd J ¥ ®ia &1 GU 9T m@F & guur Sm gefi?

E
/
i

£
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17) Select the alternative that will replace the question mark in the given analogy.
Lion : Den :: Honey-bee : ?

A) Meadow
B) Holes
C) Hives

D) Burrow

17) 38 Tdheq ol T+l < Si U 1T A1eT H 52T fes 1 giaeanid siem|

%kza;rcmzzngﬂ?@’r:?

A) aRTeTTE
B) fyer
C) =ar

D) mig

18) A train moving at a speed of 54 km/hr crosses a pole in 10 seconds. How long will it take for
the same train to cross a bridge of length 150 m?

A) 20 seconds
B) 25 seconds
C) 30 seconds
D) 40 seconds
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18) 54 km/hr & 3T F Tl Teh ¢oT 10 THS H Teh Uil ol IR cll ¢ | SHT ¢oT T 150 m &fdTS arel
Tl T IR el H fohcToll THT SN2

A) 20 TS
B) 25 Qs
C) 30 ks
D) 40 @as

19) What is the next term in the given series?
The series is 331, 331, 662, 993, ?

A) 1224
B) 1324
C) 1436
D) 1536

19) & 915 H G # 37aTell HEAT AT §?
@ §: 331, 331, 662, 993, ?

A) 1224
B) 1324
C) 1436
D) 1536

20) If x% of x is 900, then the value of 4x is

A) 3600
B) 2400
C) 1200
D) 6000

20) e X T x% 900 §, T 4x T AT fhd=lT gRI?

A) 3600
B) 2400
C) 1200
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D) 6000

21) What is the coded number for WNCSZV that can be inferred from the following image?
LETTER:CZNVRSWFD

CODEDIGIT:864729351

A) 348267
B) 318267
C) 348957
D) 348967

21) WNCSZV & oIt s seer d&ar a1 gl St [T T @ 31eTATe ofammar ST Hehell 82
LETTER:CZNVRSWFD

CODEDIGIT:864729351

A) 348267
B) 318267
C) 348957
D) 348967

22) To appear in an exam P, at least three out of these four conditions are to be satisfied:

1) At least 60% marks in 10th.
2) At least 55% marks in 12th.
3) Age more than 18 years.

4) Weight more than 60 kgs.

To appear in exam Q, at least two out of these four conditions are to be satisfied:

1) At least 70% marks in 10th.
2) At least 50% marks in 12th.
3) Age more than 17 years.

4) Weight more than 50 kgs.

Sarang has 75% marks in 10th and 64% marks in 12th. He is 22 years old, and has a weight of 67
kgs.
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For which of these exams is he eligible?

A) Only P

B) Only Q
C) Both P and Q
D) Neither P nor Q

22) Tsh TG P & 3UTEY g1l & [T, goT TR il F @ st & e it 21t I gl =g
1) 109t # A & FHH 60% 37 |

2) 1241 # %A E A 55% 31 |

3) 315 18 ¥ 4 3 |

4) gt 60 kgs & 3718 |

& Q H 3URTYUT g1 & ToIU, 34 IR AT H T sl F &haT af TS &
1) 10 df H & T FHH 70% 37 |

2) 12 &t # &H A HH 50% 37 |

3) 3Y 17 a¥ A 318 |

4) gt 50 kgs & 3Tl

HRET T 10 o 7 75% 37k &, 1247 7 64% 37k & | g 22 ATl ol &, IR 3T doled 67 kgs g1 STH T
g adteTr & forv ag aea g2

A) Fae P

B) &haer Q
C)p 3R Qamt
Daarp3ikadrQ

23) To appear in an exam P, at least three out of these four conditions are to be satisfied:

1) At least 60% marks in 10th.
2) At least 55% marks in 12th.
3) Age more than 18 years.
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4) Weight more than 60 kgs.

To appear in an exam Q, at least two out of these four conditions are to be satisfied:

1) At least 70% marks in 10th.
2) At least 50% marks in 12th.
3) Age more than 17 years.

4) Weight more than 50 kgs.

Radha has 61% marks in 10th and 52% marks in 12th. She is 21 years old and has a weight of 74
kgs. For which of these exams is she eligible?

A) Only P

B) Only Q
C)Both P and Q
D) Neither P nor Q

23) Teh Y&T P H 3UT8Ud glel & TolU, 37 IR 2Acl 7 @ A § & ofie e U gletl =g e

1) 10T # H & FHH 60% 37|
2) 121 H A H HH 55% 3|
3) 3MY 18 a¥ & e |
4) goTeT 60 kgs & 37T&®|

& Q H 3URTYT g1t & ToIT, 34 IR Al H T hH A A al TS ¢

1) 103t # &H & FHH 70% 37|
2) 121 A A F HH 50% 3|
3) 3y 17 9§ 4 31+ |
4) gTeT 50 kgs & 31T+ |

T & 1097 7 61% 37k g, 1247 H 52% 37 ¢ | I8 21 AT $I § 3R 3HHT aot 74 kgs &1 518 & ford
18T & T gg IeT g2

A) &g P

B) ¥aer Q

C) p 3k Qat
D)aarp3iRa&rQ
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24) To appear for an exam P, at least three out of these four conditions are to be satisfied:
1) At least 60% marks in 10th.

2) At least 55% marks in 12th.

3) Age more than 18 years.

4) Weight more than 60 kgs.

To appear in exam Q, at least two out of these four conditions are required:

1) At least 70% marks in 10th.

2) At least 50% marks in 12th.

3) Age more than 17 years.

4) Weight more than 50 kgs.

Lata has 45% marks in 10th and 34% marks in 12th. She is 15 years old, and weighs 64 kgs. For

which of these exams is she eligible?

A) Only P

B) Only Q
C)Both P and Q
D) Neither P nor Q

24) Ueh GIET P H 3918 g1 o T, 31 TR Al H @ ha ¥ A ciiet At I gl a1ige:

1) 103t # &H T FHA 60% 37h|
2) 124f H e H T 55% 3|
3) 3 18 a¥ & 3ifereh|
4) gt 60 kgs & TS|

eI Q H 3UTTUT 8lel & ToIT, 57 IR Ul & T T T e &I TS &

1) 103t & &H & HA 70% 37|
2) 124f H e T T 50% 3|
3) 3MY 17 a¥ & 3ifeeh|
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4) goTeT 50 kgs & 3Tl

ofcIT & 10T 7 45% 37ek §, 12 df # 34% 3k g | 98 15 ATl FI g, 3R 3GhT aoieT 64 kgs g1 S8 &
o 9teTr & forw ag AT &2

A) Faer P

B) &hael Q

C) p 3k Qat

Dgarp3iRad&Q

25) A figure is given on the left with a pattern. Observe and find out which of the three images on
the right looks similar to the right half of the pattern on the left?

A1l
B) 2
C)3
D) Both 1 and 2

25) a1 31X e Yeot Afgd U R foar o §1 earerqdes af@u 3R w1 hifore & e 3k & et st
H 8 PieT T 9718 AR & Yo & gliget 3T gE o AT fig@dr g2
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A) 1
B) 2
C)3

D) 1 3ik 2 &t

26) Which of the given option will NOT share the same property as the elements of the given set?

Mouse, Keyboard, Printer

A) Scanner

B) Tennis

C) Monitor

D) Web Camera

26) f&T 91T faehedl & @ leT AT faehod ST JUTETIHTE ol TTAT 6T M Wil (ST AT HE & cled A 872
A) TR
B) e g

C) Affaex
D) 3 &ar

27) You are given a statement.

Statement: P is a prime number.

Which of the following questions can be answered by using the given statement?
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A) Is P divisible by 27?
B) Is P divisible by 3?
C) Is P divisible by 4?
D) Is P divisible by 5?

27) 39! Ueh T a1 IT 8|
$UT: P Ueh HHAT TEAT &

feT 37T 2T T 3TN ek [T F A T T W2 &7 3T AT T FehT §2

A) F1 P, 2 O fasteT &7
B) 71 P, 3 @ Ry 87
C)aarp, 4 @ fasmsg &2
D) & P, 5 & faseT £

28) You are given a pair of statements.

() P is an odd number.
(ii) Q is an even number.

Which of the following questions can be answered by using the given statements?

A) What will be the remainder left when (P+Q) is divided by 2?
B) What will be the remainder left when (P+Q) is divided by 37?
C) What will be the remainder left when P is divided by 37?
D) What will be the remainder left when Q is divided by 4?

28) 3TUehT AT ST Teh ST & 1S &
(i) P Us Ay Ear gl

(i) Q Ueh TH TEAT ¢ |

feT 37T FHUAT &7 3TN Fah [Fea 7 O FT 9T 1 391 &A1 57 Ghar §2

A) JE (P+Q) I 2 A fasnTora fovam ST & a Aol &/ gam?
B) St&r (P+Q) & 3 & fyanfara fovam Sirar & &Y Aol &ram gem?
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C) 5ra P &Y 3 @ [asnTarg v Sirar & af Auher &/ @19
D) St& Q &Y 4 ¥ Tysnfora fonam ST & o A9hoT T g

29) 68% of the students passed in an examination. If the number of students who failed are 256,
then the total number of students who passed are

A) 544

B) 623

C) 800

D) 657

29) Teh TVET 3 68% faemait 3<oT gUl 3R 31eTeloT ezt o wear 256 &, A 3T faezt
T &A1 fohdsil g7

A) 544
B) 623
C) 800
D) 657

30) Harini's mother is Jeevan's father's only daughter. How is Harini related to Jeevan?

A) Sister

B) Mother
C) Daughter
D) Niece

30) g Fr AT SiiaeT & T i sarallar 3¢ g1 gREAT T Siiaed & 31 TaeT g7
A) g

B) &Y

Ok-ral

D) srisiy

31) Three among the four options mentioned below belong to the same class or group. The odd
one out is
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A) Square
B) Cube

C) Pyramid
D) Cylinder

31) e @ 10 R faeheq & 8 It U &1 997 AT Heg & HaTd & | ST & I BisT AT 87

A) TFaRR
B) o

C) RifAs
D) Rrev=t

32) Which answer figure will complete the pattern given in the problem figure?

Problem Figures: Answers Figures:

OB ?| [ BiPPIP

(A) (B) ©) D) (1) ) (3 (C))

A) 1
B) 2
C)3
D) 4

32) ahleT T 3T TR & 915 FHEAT 3Tehidl o UeoT Sl I N2

Problem Figures: Answers Figures:

OB ? | [BIDIPIP

(A) (B) © D) ¢) (03 3 C))
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33) Among the given group of 4 images, which set of images can be classified as a
group?

A) (1, 2, 3)
B) (1, 2, 4)
C)(1,3,4)
D) (2, 3, 4)

33)
R0 T 4 =T & a9 | 9 e 9qga =l &1 UF 998 & €9 § a¥iiad (a7 ST 9T 872

A) (1, 2,3)
B) (1, 2, 4)
C)(1,3,4)
D) (2, 3, 4)

34) Identify the mirror image of PS8R17L3.

A) £1VTA82H
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B) £14148Sd
C) EY1rAs8eq

D) €471148Sd

34) PS8R17L3 &1 gUuT S Hl Ugdald Hi|

A) £€1VTA82H

B) €1.148Sd
C) ENArHAseq

D) €411 d8%Sd

35) Select the alternative that will replace the question mark in the given analogy.
Algeria : Algiers :: Austria : ?

A) Kabul
B) Tirana
C) Suva
D) Vienna

35) 38 Tahed I ITA HL ST [GT 3T ATET H 92T gt i gfaeariia #9m|
el RAT : 3eaay :: 3feear: ?

A) F1ger
B) faRTeT
C) gar

D) e

36) The value of a car depreciates at the rate of 8% per annum. What will be the price of the car
after 2 years, if the current worth of the car is ¥ 3,00,0007?

A) X 376510
B) ¥ 342170
C) % 285640
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D) ¥ 253920

36)

TS FTT T o TTAaT 8% T 2% & = TTAT 21 2 AT 978 F1E HT GoF FAT T TS THFRT TG0 o 3
300000 £72

A) ¥ 376510
B) ¥ 342170
C) % 285640
D) ¥ 253920

37) The next number in the series is

582, 586, 595, 611, ?

A) 636
B) 654
C) 670
D) 688

37) AT H 33Tl TEAT T A §2

582, 586, 595, 611, ?

A) 636
B) 654
C) 670
D) 688

38) The next number in the series is:

6, 20,42,72,7

A) 100
B) 102
C) 110
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D) 112

38) ATl 7 37aTell HEAT hieT &1 g2
6, 20, 42, 72, ?

A) 100
B) 102
C) 110
D) 112

39) A cricketer's average score in 10 innings was 36. In his 11th innings, he scored some runs
because of which his average increased to 40. What was his score in 11th innings?

A) 40
B) 50
C) 70
D) 80

39) 10 WIRAT A T fohehe T AT TR 36 AT| 39T 11l IR H 380 B T AT, T FHROT
3T 3T Seh 40 g 1| 1187 9T H 39ehT ThR 4T AT?

A) 40
B) 50
C) 70
D) 80

40) If 'bcd’ is written as ‘def’, then what is the code for ‘true’?

A) dcek
B) kpuz
C) vtwg
D) fimw

40) IfE 'bed' @1 'def' & 9 H fr@r /T 8, o 'true’ & fIT fHhe &7 gram?

A) dcek
B) kpuz
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C) vtwg
D) fimw

41) A figure is given on the left with a pattern. Observe and find which of the three images on the
right looks similar to the top half of the pattern on the left?

1 2 2

A1l
B) 2
C)3
D) Both 1 and 2

41) T 3R T Yeet & AT U 7 &) 71 §| ST ST 3R AT FIFST 7h ars 3R & et =t
H O &leT T@T 1S 3R & oot & 2Ny 3me R & o fe@ar 872

1 2 3

A) 1
B) 2
C)3

D) 1 3tk 2 &t

42) Which of the following options will NOT share the same property as the elements of the given
set?

ADG, CFl, BEH, DGJ
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A) MPS
B) NQT
C) LNQ
D) RUX

42) Fe=faf@d & @ st a1 fasheq T a7 de & dedl & S 90T T HTST 6T HaM?

ADG, CFI, BEH, DGJ

A) MPS
B) NQT
C) LNQ
D) RUX

43) You are given a statement.
Statement : Circle P has a radius of more than 6 cm.

Which of the following questions can be answered by using the given statement?

A) What is the diameter of P?
B) What is the area of P?

C) Can a square of side length 15 cm completely lie inside P?
D) Can a square of side length 2 cm completely lie inside P?

43) 319! Teh 2T fear AT B
YT Id P 1 A1 6 cm & 3112 &

feT 31T FUT FT 3T Flah AT H T 5T 9T 1 391 f&ar 51 Gepar &2

A) P T oI FAT 872

B) P & &Yather FAT &7

C) = 15 cm T3 T TS AT Teh HHIVT TIST P & #iek T v ¥ AR aF a2
D) T 2 cm ST I oIFSTS dTelT Teh HRIUT TJeTol P o #c U g & AR &1 Feohel 872
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44) The combined age of Alex and Charles is 12 years more than the combined age of Reeta and
Charles. 18 years ago, Alex was three times as old as Reeta. The present age of Reeta is

A) 24 years
B) 26 years
C) 28 years
D) 30 years

44) TIeg 3R AT i HYeFT Y T AR TTed T TFeFcd 3G @ 12 G 3118 §| 18 ATl T8,
Tolerd Il & et T[T SATET 33 1 AT| AT T TAATH Y fohcelt g2

A) 24 a9
B) 26 a¥
C) 28 a§
D) 30 a§

45) 4 means 'is the sister of', 5 means 'is the mother of' and 2 means 'is the brother of'. The relation

isexpressedas X2Y,Y5Z,Z4 N, and N 2 L. Which of the following statements is valid for the
given relation?

A) L is the son of Y

B) N is the daughter of X
C) N is the brother of X
D) Y is the mother of L

A5) AT HTE AT TEAE, SRIIATE P AT IR 2 A NI FHSE | TITRIX2Y,Y52Z, Z4N,
RN 2 L & &7 H IFd Fam 7131 § | eaAfaf@d & & &l a1 s+ f&u 31w gaer & fow der g?

A)Yasrq;arL%
B) X fradrN g

COXaaENg
D) Lfraryg

46) Rahim is the son of Rehan, who is the son of Sana. Sana's daughter has only one child,
Shahrukh. How is Rahim's sister related to Shahrukh?
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A) Uncle
B) Aunt
C) Mother
D) Cousin

A46) TGV, YgTA I ST g, ST FeAT T ST g | Tell Shl SCT ol cha ol Ueh STl g, AEeW | TEIH I dgel
UTETT T Ha Tafd g7

A) Trar
B) =it
C) &t

D) 7338y S8t

47) Three of the four choices mentioned below belong to the same category or class. Find the odd
one out.

A) Lionel Messi

B) Cristiano Ronaldo
C) Dani Alves

D) Paul Walker

47) A e 9t IR et & & i T &) Auft I1 997 & & | 378 & 31991 A1 Fifaiv|

A) fraerer Aed
B) frfeeamr Qetrest
C) sanfay 3reaw

D) gfer atet

48) Given below are some of the different views of a dice. What would be the number opposite to
the number 47?
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A) 9
B) 5
C)7
D) 6

48) I Teh ITH o fafdieet ¥ U 910 §| T&AT 4 & o uaT hr d&ar #r gief?

4

A) 9
B) 5
C)7
D) 6

49) Among the given group of 4 images, which set of images can be classified as a group?

1 2 3 4

A) (1, 2,3)
B) (1, 2, 4)
C)(1,3,4)
D) (2, 3, 4)
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49)
faw w4 ==t ® &, ==t % g 99ga 91 us a9z | awiiga a1 S aaar 82

A) (1, 2,3)
B) (1, 2, 4)
C)(1,3,4)
D) (2, 3, 4)

50) Find the odd one out.

A)

o[
N

-

D)

!

N

50) faw# A1 FIfST]

A)

o[
N
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D)
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Section 2 - English Language

No. of Questions: 50

51) Identify the Antonym for the word - pitfall

A) Safeguard
B) Danger
C) Monitor
D) Inaction

52) Choose the correct article to complete the sentence:
Every Sunday Joan goes to church.

A) No article required
B) an

C) the

D) a

53) Identify the error in the following sentence. The error, if any, will be in one part of the sentence,
the number of that part is your answer. If there is no error, mark your answer as (D).

(A) I always go to / (B) seeing a film/ (C) on Friday evenings./ (D) No Error.

A) A
B) B
C)C
D) D

54) Choose the best meaning of the underlined idiom in the sentence.
The friends meet each other once in a blue moon.

A) for a short time

B) once in a while

C) under the blue moon light
D) during the full moon

55) Fill in the blank with the correct pronoun:

Page320f90



Setld : 61775 3 Technical Assistant (LAB) - Bio-Chemistry BATCH1 180CT2020

| lost the pen | bought yesterday.

A) that
B) whom
C) where
D) who

56) Fill in the blank with correct option:

She hid the letter a pile of papers.

A) over

B) among
C) beneath
D) with

57) Fill in the blank with correct option:

| parked my car a tree and went in search of my dog.

A) between
B) over

C) above
D) under

58) Choose a suitable option to complete the sentence:
His father is very proud of his

A) failure

B) downfall
C) success
D) misfortune

59) Identify the Compound sentence.

A) There is no magic formula for success.
B) He is a family friend.
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C) He lost the next page of his speech and floundered for a few seconds.
D) George and Harry are good friends.

60) Choose the word that is correctly spelt.

A) Descrete
B) Discrite
C) Discrete
D) Diescrete

61) ldentify the correct Synonym of the underlined word:
| don't think you understand the gravity of the situation.

A) Usefulness
B) Cheerfulness
C) Calmness

D) Seriousness

62) Identify the correct Synonym of the underlined word:
They invited me for dinner and | thought it would be churlish to refuse.

A) Polished
B) Rude

C) Polite

D) Courteous

63) Fill in the blank/s with the correct form of the verb given in brackets:

My mother never (curse) anyone during her lifetime.

A) cursed

B) curse

C) will curse

D) will be cursing
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64) Fill in the blank/s with the correct form of the verb given in brackets:

I (decide) to complete this work by the end of the day.

A) am to deciding

B) will decides

C) had been decided
D) decided

65) Choose the correct verb to complete the sentence:
She was chosen for the role because she very well.

A) sings

B) was singing
C) is singing
D) will sing

66) Choose the correct verb to complete the sentence:
He the article last night.

A) writes
B) written
C) wrote

D) will write

67) Identify the Antonym for the word - analogous

A) Different
B) Similar
C) Digital
D) Manual

68) Choose the correct article to complete the sentence:

They went for a holiday to _ Andamans.

A) a
B) an
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C) the
D) No article is required

69) Identify the error in the following sentence. The error, if any, will be in one part of the sentence,
the number of that part is your answer. If there is no error, mark your answer as (D).

(A) Our new sofa / (B) don't fit / (C) through the door. / (D) No Error.

A) A
B) B
C)C
D) D

70) Complete the sentence with the correct phrase.
The Indian athlete won the gold medal because he ran

A) for great speed
B) at top speed
C) on great speed
D) in great speed

71) Choose the meaning of the underlined idiom in the sentence.

She acted professionally by keeping the terms of her contract as she did not want to burn bridges
at her old job.

A) to close the way backward
B) to close the bridge

C) to break the barrier

D) to start all over again

72) Fill in the blank with the correct pronoun:
The jury is not ready with verdict.

A) his

B) its

C) their
D) her
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73) Fill in the blank with the correct pronoun:
Please listen to he says.

A) what
B) that

C) which
D) them

74) Fill in the blank with correct option:

The tunnel goes right the city.

A) between

B) over

C) above

D) underneath

75) Choose the correct option to complete the sentence:
She had to take rest, because she was after the climb.

A) excited

B) elated

C) bored

D) exhausted

76) Choose the correct option to complete the sentence:
The boy always does as he is told.

A) careless
B) naughty
C) indolent
D) obedient

77) ldentify the Complex sentence.

A) The radio started to crackle.
B) The logs crackled and popped in the fireplace.
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C) An elderly couple lives next door.
D) When | was younger, | could stay up all night.

78) Choose the word that is correctly spelt.

A) Questionnaire
B) Questionaire
C) Questionnair
D) Questionnairre

79) Choose the word that is correctly spelt.

A) Ambivelence
B) Ambivaylens
C) Ambivaelance
D) Ambivalence

80) Identify the correct Synonym of the underlined word:
A decrepit old man sat on a park bench.

A) Clumsy
B) Frall

C) Happy
D) Tall

81) ldentify the correct Synonym of the underlined word:

He was dressed scantily.

A) Successfully
B) Inadequately
C) Sufficiently
D) Ideally
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82) Fill in the blank/s with the correct form of the verb given in brackets:

Samuel (complete) his postgraduation and soon (leave) for the US.

A) completed, leaves

B) has completed, will be leaving
C) will complete, will leaves

D) completed, lefts

83) Fill in the blank/s with the correct form of the verb given in brackets:
Ram (go) to be an engineer when he (grow) up.
A) was going, will grow

B) goes, grew

C) will go, grows

D) is going, grows

84) Choose the correct verb to complete the sentence:
The garden is now better kept than it last year.

A) was
B) is

C) were
D) has

85) Choose the antonym of the underlined word.
Visiting Rajasthan during the summers will give rise to chagrin.

A) Exasperation
B) Pleasure

C) Mortification
D) Vexation

86) Choose the correct article to complete the sentence:
May | have pleasure of your company?

A) a

B) an
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C) the
D) No article required

87) Choose the correct article to complete the sentence:
He drives his car at 60 kilometres hour.

A) a

B) an

C) the

D) No article required

88) Identify the error in the following sentence. The error, if any, will be in one part of the sentence,
the number of that part is your answer. If there is no error, mark your answer as (D).

(A) The temperature are / (B) expected to be in / (C) the eighties tomorrow. / (D) No Error.
A) A

B) B

Cc)C

D)D

89) Choose the meaning of the underlined idiom in the sentence:

Ronaldo kept a stiff upper lip all the time while he was being treated in the hospital.

A) showed off

B) showed joy

C) showed courage

D) showed reservations

90) Choose the Pronoun in the given sentence:

To whom should | write?

A) to

B) should
C) write
D) whom
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91) Fill in the blank with the correct option:

the river lies the village of Shantipur.

A) On

B) After
C) Before
D) Beyond

92) Fill in the blank with correct option:

Please put your shoes before you step out onto the stage.

A) for
B) of
C)on
D) in

93) Choose the correct option to complete the sentence:
The accountant after he was accused of fraud.

A) rejoiced
B) remained
C) resigned
D) receded

94) Choose the correct option to complete the sentence:
His career is by his careless attitude towards work.

A) effected
B) affected
C) flourished
D) spiraled

95) Identify the Compound sentence.
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A) She mumbled something about being too busy.
B) These exercises build muscle and increase stamina.
C) He was muttering to himself.

D) Unfortunately some poisonous mushrooms look like edible mushrooms.

96) Choose the word that is correctly spelt.

A) Disseminate
B) Dessiminate
C) Desseminate
D) Desiminate

97) ldentify the correct synonym:
Eloguence

A) Attention

B) Humbleness
C) Delusion

D) Fluency

98) ldentify the correct synonym:
Avid

A) Uninterested
B) Keen

C) Indifferent
D) Submissive

99) Fill in the blank/s with the correct form of the verb given in brackets:

He (explain) the rules several times but | did not understand them.

A) explained

B) is explaining

C) will explain

D) will be explaining
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100) Choose the correct verb to complete the sentence:
The Bond movie, 'Die Another Day' is tonight.

A) premier

B) premiering

C) been premiere
D) to premiered
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Section 3 - General Awareness

No. of Questions: 50

101) Which yesteryear actress has been conferred the Master Deenanath Mangeshkar Lifetime
Award 20197

A) Helen

B) Asha Parekh

C) Waheeda Rehman
D) Hema Malini

101) T5E 1T a¥ AT I ARCI SIATATY HILMHT ATSHESH 37ATS 2019 H FFATIAT fohdT 31T §72

A) FarT

B) 3mem ur@
C) agrer A
D) g#1 FTfareh

102) Which vitamin is necessary for calcium absorption in the body?

A) Vitamin-A
B) Vitamin-B
C) Vitamin-C
D) Vitamin-D

102) R H hTeRMFH & HTAYOT & [T isT AT AT 3TaTqe gidT &7

A) fgerfaa-A
B) fyerfaer-B
C) fgerfasr-c
D) fqerfaer-D

103) Which of the following is NOT a water harvesting system in India?
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A) Rojison
B) Khadin

C) Kuhl

D) Surangam

103) fas=faf@d 7 & @it TT AR H STol HAGUT YUl A6l &7

A) AfSra=T
B) @ifee
C) gt
D) gtaret

104) In 1953, Andhra Pradesh became the first state in India to be created on the basis of

A) Religion
B) Language
C) Caste

D) Population

104) 1953 &, 3TY 9 ATl i ad & T fohd MR IR IS gled aTell AR T Tgell I ST IAT?

A) g3y
B) st
C) anfa

D) seraear

105) Muga silk is produced in which of the following states of India?

A) Karnataka
B) Rajasthan
C) Assam

D) Chattisgarh
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105) HII YAH T 3cUIe HRd & AT & F ey 77 A glar g?

A) e
B) Irerears
C) sram

D) ot

106) Nataraja, Lord of Dance is a depiction of which Hindu god?

A) Shiva

B) Ganesha
C) Karthikeya
D) Indra

106) T &, #ersT fohd fgwg o & FRITId oid &2

A) frg

B) aoter
C) wifcera
D) &g

107) Which of the following states has the longest coastline in India?

A) West Bengal
B) Goa

C) Gujarat

D) Odisha

107) IRd & AT @d # 8 7T ToT H FH o6l deddr 87?

A) afRes sarrer
B) afar

C) arorrer

D) anfaem
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108) The biggest canal project in India that starts from the Harike barrage at Sultanpur, a few
kilometers below the confluence of rivers Sutlej and Beas is

A) Ganga Sagar Canal Project
B) Mahanadi Canal Project

C) Indira Gandhi Canal Project
D) Son Canal Project

108) R H FoclloTqX H §ieh SRToT H YE Blol dTell HEY T37 76T TRIANSIAT shist AT 8, ST Helorol AR
ST AT & FIH A FS fhell AT gT 51

109) Which of the following Navratnas was responsible for creating the successful land revenue
system for Akbar?

A) Birbal

B) Raja Man Singh
C) Raja Todar Mal
D) Faizi

109) AT & & fohq FTatcet o 3ehar o TIT Hhel §1 T YOTTeNT &1 Taehre foham UT?

A) S

B) tramm #reT fiE
C) Tre et A
D) it

110) Who was victorious among the following rulers in the Second Battle of Panipat?
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A) Akbar
B) Hemu
C) Sher Shah Suri
D) Babur

110) Tt < Gaciiar o # fAr=faif@d amaet & ie fasri g3m ar?

A) 3eR

B) 3

C) eRemg T
D) g1ex

111) As per the Election Commission, in the 2014 general elections, which of the following Indian
states had the highest number of Lok Sabha seats?

A) Rajasthan

B) Maharashtra
C) Bihar

D) Uttar Pradesh

111) AT ITANT & HAfeeh, 2014 & A FoA1d H, fFrfaf@d SR T3t d 9 fha aeg H
AR HT et T TEar ged 3ifde A2

A) Tt
B) #gRTSE
C) RgR

D) 3) wear

112) EVMs are used in Indian General and State Elections by voters to cast their vote. EVM is an
acronym for

A) Electrical Voting Mechanism
B) Election Voting Machine

C) Elected Voting Member

D) Electronic Voting Machine
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112) HRAT 3MH eATa 3R T Yool H HATH & [T HTCTaT3i S@RT EVM ol 3TN fohar ST 8 |
EVM o1 & & forgerr aRavft erse §2

A) safgeee aiféer Ao
B) gorarereT aifear mefer

C) zores afdar AR

D) galereifaie arfear aeier

113) What was the theme of National Science Day 2019?

A) Science and Technology for a Sustainable Future
B) Science for the People and the People for Science

C) Science and Technology for Specially Abled Persons
D) Science for Nation Building

113) IS¢ faaTet fead 2019 &1 Het fawr (2fe) =am ar?

A) o e sifasa & e R 3¢ sl iy
B) Sttt & fore faamet 31k faamer & forw afer

C) Recarar aiatt % e Rramer 3¢ S

D) qree fo#Tor & forw e

114) Who was appointed as the Chairman of the Defence Research and Development

Organisation (DRDO) and Secretary in Department of Defence Research and Development
(DDR&D) in August 20187

A) Dr. Kailasavadivoo Sivan
B) Dr. G. Satheesh Reddy
C) Dr. G. Madhavan Nair

D) Dr. Pravin Kumar Mehta
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114) 319TET 2018 # T&TT 3THT Ud [dehi HardeT (DRDO) o 31egeT 3R &1 3eTHeT= Ud fdehrd
fermer (DDR&D) & Tfa & 9 & 58 fAgerd fohar arar?

A) 3. Femaarieg faae
B) gf. Sit. Trcier {sar

C) 57 . ATergeT AR
D) 5. gefior AR Aga

115) Which of the following players is associated with the sport of ‘Wrestling'?

A) Vikas Gowda

B) Shiva Thapa

C) Soumyajit Ghosh

D) Narsingh Pancham Yadav

115) foo=T & & et @ OGS 'FAT & Wel & TR 82

A) e TitsT

B) fRrar arar

C) gtrgsia 9y
D) sxfig vu# area

116) Yogeshwar Dutt, an Indian sportsman, is associated with which of the following sports?

A) Swimming
B) Kabbadi
C) Wrestling
D) Boxing

116) AR TEIET AERaR &d, Feafaf@ad 7 & 5T Wl & @afd 87
A) R
B) dargdr
C) gecht
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D) sgerharsir

117) Which Railway Station in India has become the first ever railway station to get Green ISO
Certification from the National Green Tribunal?

A) New Delhi
B) Habibgunj
C) Guwabhati
D) Secunderabad

117) $TRc T shieT AT TeTd T AAeTel IMeT [EsgeTel SaRT Mot ISO THTUT UTe ATell Tgell JoTd TR
e 31T §?

A) 75 Redt
B) getareior
C) agarerér
D) fahexree

118) In March 2019, who among the following was appointed as one of the Managing Directors of
Life Insurance Corporation (LIC)?

A) Nishant Patil

B) Vipin Anand Monday
C) Varsha Sharma

D) Raghu Ram Rajan

118) AT 2019 H, oAt @ & & fher St §1AT [A9197 (LIC) o 9aer TSl & & Teh o &9 &
fegera foar arar?

A) freria wife
B) A=t 311 A2
C) asf erAt

D) vg 11 WreteT
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119) Drikold is a refrigerant that uses

A) frozen water

B) solid carbon dioxide
C) solid nitrogen

D) frozen acetic acid

119) f3hres Uah IMhoic & S

A) 33 §T STel FT SEAHATS AT §

B) 31 FIeeT SIS3HTFAISS T SEAHTST T §

C) 31 FATSeISTe T SEJHTS LT &
D) 5ot gu vfafees s 7 secaTel axar &

120) Usually when a yellow curry stain on the cloth is rubbed with soap, it turns brownish-red. This
is because

A) soap contains an acid
B) curry contains turmeric that turns brownish-red with base present in soap

C) curry contains red chilly powder that turns brownish-red with base present in soap
D) soap does not show cleansing action for turmeric present in curry

120) WA : ST9 U3 TR 31 Heoll o ATclel & el G197 bl AT F TWIST ST 8, it T $R-ollel 7 T

gl STl & | TE SHTAT BIdT & Fifeh
A)  Ag 7 IHFA BT E
B)  arere 7 g gi & S A1 # Hio[g 8TR & H9E 7 AT -1 LT &7 T Sfrelt &

C) Aot # et fAT A13sY 81aT § St WG 7 Hlo[g 8T 3 T 3 3T 3X-aTel 137 1 81 STl &
D) areet @t 7 Al gedt % T grer AT Fy B R e e 1 aar &

121) Which Schedule of the Indian Constitution makes provision for division of powers between the
Centre and the States?

A) Sixth schedule
B) Seventh schedule
C) Third schedule
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D) First schedule

121) R fFemeT Y ot 1Tq & ohg; 3R I o S ATFTAT & 37Tt 1 Jraenn &7

A w8 s

) e el
©) Ay Sregere
) el e

122) Which of the following options is NOT matched correctly?

A) Rights Against Exploitation: Article 20-22

B) Right to Equality: Article 14-18

C) Right to Freedom of Religion: Article 25-28
D) Cultural and Educational Rights: Article 29-30

122) fAe=faf@d & @ i ar faswey @gr dor & gAfad =g 82

A) qiroT & faeeer JTRIFR: 3egeoe 20-22

B) werar &1 fe: 3Tess 14-18

C) enfier Facar &1 AR 708 25-28

D) wreapfer 3iv fRvem waieht 1R 3rgeda 29-30

123) Which place is famous for Chikankari, a traditional embroidery style?

A) Ludhiana
B) Lucknow
C) Hyderabad
D) Mysore

123) it AT TATT AR, Teh IRIR dhels Aol & forw ufiey g2
A) gferarer
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B) sraas
C) gexmare;
D);‘_h:!?

124) Which of the following statements is CORRECT regarding the Sikh Gurus?

A) Guru Ram Das became Sikh Guru after Guru Arjan Dev

B) Guru Tegh Bahadur appointed Banda Bahadur as the military leader of the Sikhs
C) Gurmukhi Script was given by Guru Arjan Dev
D) The birth place of Guru Nanak is Basarke, India

124) TG 731t & TG H HAEATARIT 7 F ol AT HUT T 872

A) I T ST, T[T 3oTT & & d1G (0 9% o

B) 7% oot Se1gR o A & der AT & ®9 7 Jear SeIgY I Agerd
C) et faf I 3rotet & GarT &Y =Y o

D) I[% #ATeTeh T STod TUTT HRA H S &

125) Baralacha La pass connects which two states of India?

A) Himachal Pradesh and Jammu and Kashmir
B) Himachal Pradesh and Uttarakhand

C) Sikkim and West Bengal

D) Uttarakhand and Uttar Pradesh

125) SSTATAT o &3T AR & foheT &F TAT Y SASAT &2

A) fReATT 98T AR TFA-FAR
B) ReAarer ueer 3R 3wz

C) Rafea 3R afRas somer

D) 3erm@s 3R 3eR e

126) On which of the following rivers is the Panchet Dam constructed?
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A) Damodar
B) Mahanadi
C) Krishna
D) Luni

126) feaAfaf@d & & frg A8 W 9=d S &1 f3ATor fomar arar &2

A) gretex
B) Fgrerdr
C)TUU'IT
D)(—.{Uﬂ-

127) Which civilization deployed the '‘Gurukul system’ for Education in India?

A) The Vedic Civilisation

B) The Indus Valley Civilisation
C) The Mesopotamian Civilisation
D) The Dravidian Civilisation

127) fohE T o AR # 16T & forT "areeher JoTTell” & YR fohar?

A) dfes Tegar

B) fity emér warar

C) Addreriager geaan
D) afas ga=rar

128) Which of the following Governor generals of the East India company introduced the most
controversial policy called 'Doctrine of Lapse'?

A) Lord Curzon
B) Lord Mountbatten

C) Lord Dalhousie
D) Warren Hastings

Page550f90



Setld : 61775 3 Technical Assistant (LAB) - Bio-Chemistry BATCH1 180CT2020

128) S¥C ST heAT oh [AFATI AT IR STeieil H & fohde e faargrede Aifa ger fr o, 5a
TAYIT T FHSHTT FgT ST 872

A) dTS ot

B) @if$ AT3cse
C) =its sertsh

D) after gfecew

129) The National Emblem and Seal of the Government of India was taken from the:

A) Iron Pillar, Delhi

B) Ashoka Pillar, Sarnath
C) Qutub Minar, Delhi

D) Sanchi Stupa, Raisen

129) HRA TR T T e 3R 7453 1 gl @ form arar ar?

A) aitg TsT, ool

B) 31eltep TaT, IRy
C) Fqe Fem, ool
D) @ity &1 T, T

130) As per the 44th Constitutional Amendment of 1978, which of the following ceased to be a
fundamental right and remained only a legal right?

A) Right to Work

B) Right to Property
C) Right to Health
D) Right to Privacy

130) 1978 & 443 HaLTTeleh HAT & AR, o=@ 7 & it &1 Hifoleh HTURR o Wt dhaer
leTail JHTURR oo a7 572

A) FHTH & JDFR
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B) gufr & 3R
C) Fareey & 3R
D) fastar &1 3R

131) The launch of Chandrayaan-2, India's second Moon mission was called off by ISRO due to a
technical snag. The rescheduled date on which this spacecraft was successfully launched is:

A) August 15, 2019
B) August 22, 2019
C) July 22, 2019
D) July 15, 2019

131) HRA o GAR TGHAT AR TGITeT -2 o FEITUT & Tehoilenl RIS & SHRUT ISRO GaRT TATNA Y
fem arar am| 54 3TARET 1ot T AHATdS GaTT fhu e i gafruifRe fafdr sle & o

A) 31TEd 15, 2019
B) 3mrea 22, 2019
C) Sers 22, 2019
D) Ferms 15, 2019

132) Identify the software unveiled in 2018, to keep track of punctuality of trains as well as freight
and passenger earnings from anywhere in India.

A) eDisha
B) eConnect
C) eDrishti
D) eRail

132) HART H el T Y ATer 3R I 31T o TTI-ATYT oAl bl FHT FT ITEET U To IWe1 & TolT 2018
H 3ATART fohT 91T ATFCAIR T AT H|

A) §-fem

B) $-araiere

C) $.gfee
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D) & Yot

133) Which of the following sports is associated with Deodhar trophy?

A) Cricket

B) Lawn Tennis
C) Football

D) Volleyball

133) Al fad 7 & Fi O Wl Saer githT & T g2

A) Brae

B) ofet 2o
C) geata
D) arefater

134) Duleep Trophy is associated with which of the following sports?

A) Hockey

B) Cricket

C) Lawn Tennis
D) Golf

134) fe=fiw grfr Feifaf@d & & g oo & Fafaa &2

A) grfr

B) e

C) siter-2fore
D) siyew

135) The Northeast Frontier Railway (NFR) won the best innovation award in the Indian Railways
for the fiscal year 2018-19. What is the name of the innovation?

A) Nano Ganesh
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B) Plan Bee
C) Nanneer
D) Bhungroo

135) qafa AT Yerd (NFR) o & a§ 2018-19 & fAT R Yo1d & HIATS AGuREcT JEHR
ST &1 39 TR T AT F47 g2

A) S arorer
B) carrer &
C) seeiic

D) W

136) Which movie won the award in the category of 'Best Documentary Short Subject' at the 91st
Academy Awards?

A) Black Sheep

B) End Game

C) A Night at the Garden
D) Period. End of Sentence

136) 919 Tehs#Y 31aTSH H Tohd [thos o 'SEC SIFFAE ATC Heolere' T AU H WERR SHIar?

A) st ofig

B) gz a1\

C) 31 ASe e g e

D) $ifters. Uz 3itw d=ed

137) Wires carrying electricity should NOT be touched bare footed. This is because

A) the earth has high potential

B) live wire has low potential

C) live wire has high potential

D) wire carrying electricity has infinite resistance
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137) forsTell JoFcT R oY =feT 9 fohay hR0T A 7€t et AR T2

A) gt fop el &1 AT STT gl &

B) it for afera ar &7 fasra ReT gar @

C) w2t for afehg ar &1 Rema <T@ &

D) it o faretelt o AR a1 Sfaier 3eid giar &

138) "Even a diseased person can donate eyes after death for another person in need." A person
suffering from or expired due to which of the following diseases can donate eyes?

A) Diabetes
B) Cholera
C) Tetanus
D) Meningitis

138) “Teh 20T ehichcl 3 HcF o d1G ohdll GO SRIAHG chierd i 3Tal AW &TeT Y Hehell 51"
fe=AToIi@d & & fohg ST & IEd AT T Fichcd HI Elel Y Hehell 82

A) mepie

B) &=

C) ereyseapm T
D) afeass s

139) Motilal Nehru and eight Congress leaders drafted a Constitution for India in the year:

A) 1926
B) 1927
C) 1929
D) 1928

139) AT 7Ig% 3R T & 316 AdT3HT o IR & TorT GiFene o1 Fdler fhd av 7 IR fhar a2

A) 1926
B) 1927
C) 1929
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D) 1928

140) The Joint Sittings of the two Houses of Parliament are held in the

A) Speaker's Chamber
B) President's Chamber
C) Central Hall

D) Committee Hall

140) HHe; & Elell Heall T FYFT Soeh Hel AT T STl &2
A) Te &1 T

B) qrseufa &t df )

C) &&ra wver

D) gfafy et

141) The celebration of 'Khordad Sal' marks the birthday of the prophet belonging to which
religion?

A) Sikhs
B) Jains
C) Hindus
D) Parsis

141) 'TleTe, ITer T 3c0d hd 97 & TAIT W & SToATceT Hl Tclleh 872
A) fag
B) 31

O g
D) greey

142) Who launched the 'Shuddhi movement' to reconvert the Hindus who were converted to other
religions?

A) Brahmo Samaj
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B) Prarthana Samaj
C) Arya Samaj
D) Radha Soami

142) 31 gt 7 aRafdd e e g3t o g aRafda seer & fore gefer snerest free & fmar
uqT?

A) SeAT gATS

B) wretar @#TST

C) 3 gATST

D) qrer Ears

143) The highest mountain peak in India is

A) Nanda Devi

B) Kangto

C) Saramati

D) Kangchenjunga

143) 9Rd H FEH 3 9dd AIeT ShieT IY g2

A) e &
B) sharar
C) arraAre

3

144) Match the following leaders in List | with their corresponding famous slogans in List Il

List I List I
(i) Bhagat Singh (@) Do or Die
(if) Mahatma Gandhi (b) Dilli Chalo

(iii) Subhas Chandra Bose |(c) Inquilab Zindabad
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A) ()-(c), (ii)-(a), (iii)-(b)
B) (i)- (b), (ii)-(c), (iii)-(a)
C) ()-(a), (i)-(), (ii)-(c)
D) (i)-(a), (ii)-(c), (iii)-(b)

144) F= | 7 =T A13il & gl || 7 o7 Harerd GTAey AR & |1 7|

i | el
()wafie (@& @rw
(ii) merem et |(b) foett <l
(i) T =7 v |(C) <obera e

A) ()-(c), (ii)-(a), (iii)-(b)
B) (i)- (b), (ii)-(c), (iii)-(a)
C) ()-(a), (ii)-(b), (ii)-(c)
D) (i)-(a), (i)-(c), (iii)-(b)

145) Who among the following revolutionaries was NOT part of the Kakori Conspiracy?

A) Ram Prasad Bismil
B) Bhagat Singh

C) Chandrashekar Azad
D) Keshab Chakravarthy

145) fFafaflad sifdeRAT & & Pl PRI ¥5I7 1 fgear Aar 2?2

A) 31 gaTe fa e
B) st R

C) Teg @y 319TTe
D) srerer Trsharcif

146) Which of the following options is TRUE regarding the tenure of a member of State Public
Service Commission?
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A)
B)
C)

D)

A member of State Public Service Commission shall hold office for a term of 10 years from
the date on which he enters his office

A member of State Public Service Commission shall hold office for a term of 5 years from the
date on which he enters his office

A member of State Public Service Commission shall hold office until he attains the age of 65
years

A member of State Public Service Commission shall hold office until he attains the age of 62
years

146) T olieh [T IR & HEET & HIIFIA & R H o1 #§ I FleT T [qhed T 872

A)

B)

C)
D)

ST olleh QT 3TN T HEET AT fAG el oh Tl feeT & 10 HTer T 37afer & foIv g aRor
Sacll

T olleh aT 3T T T 39e1 AGfF & ggel et & 5 Tl & 3afer & faw ue eror Y
b &

T ek {aT 3TAET T HeE g 65 I I 1Y deh Ue YROT & Fehcll &
IS olleh {aT 3TN T HEET 62 Y T 37 TAeh T, YROT T Hehell &

147) Shanti Swarup Bhatnagar Prize is one of the prestigious multidisciplinary science awards in
India. Who won the Shanti Swarup Bhatnagar Prize for medical science in the year 2018 ?

A) Thomas J. Pucadyil

B) Ganesh Nagaraju

C) Deepak Gaur

D) Ganesan Venkatasubramanian

147) M TIET AR JRERR Wﬁﬁ%a‘g—ﬁwﬁmd WERRT H A ThH g1 a¥ 2018 A
RIfehcar fa=irer & faw Aifd Fa&T HeAwR RERR fhae Sfidr?

A) sifsrer 3. gl

B) aroter ATaRTSy

C) e ik

D) sroterst deregsatozst
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148) In January 2018, the Union Minister for Earth Science inaugurated the High Performance
Computer (HPC) System named ‘Mihir’ at which of the following places in India?

A) Patna
B) Noida
C) Lucknow
D) Jaipur

148) eI 81-fa=iret 7l o 9R A A fe=ifof@d & @ forg Torer 0 TART &1 & 3Ta fAsurest hegex
(HPC) f&¥cH & ST=1adl 2018 H 3cHred fhar?

A) gear
B) rwsr
C) =13
D) st

149) Who won the 'FIFA Young Player Award' for his performance at the 2018 World Cup?

A) Diego Forlan
B) Paul Pogba
C) Kylian Mbappe
D) Ronaldo

149) 2018 faed Y & 379 T&2ie oh feIT 'BIHT JI7 TolaR GEHR” ohefad Siier?

A) fSTal BrelieT

B) gier qrerer

C) sreforasT vrarey
D) Jaresr

150) Who won the silver medal in the category of Badminton in the Rio Olympics 20167

A) Saina Nehwal
B) P. V. Sindhu
C) Sania Mirza
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D) Uma Maheswari

150) RAT 3freifter 2016 H ssfFce $r Aol #7 1570 Igah fohdet Sar?

A) | sigaTer
B) o, . gy

C) aferar st
D) a7 FTg el
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Section 4 - Techincal Knowledge of Bio Chemistry

No. of Questions: 50

151) Which of the following options is a monosaccharide?

A) Cellulose
B) Amylase
C) Starch

D) Glucose

151) SeITaf@d & O Sl a1 e T AlRdess &7

A) Frefeiter
B) varzera
C) rerey

D) sorepiat

152) Thymine is also known as:

A) Pyrimidine Nucleobase
B) Purine Nucleoside

C) Hormone

D) Protein

152) ATsTHeT fohd 31 11 | Y ST ST 82

A) qrEdfEEe AR
?) el fFees
C) gt

D) wrére
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153) The molecule in which ribose sugar is linked to a nitrogen-containing organic compound is
called

A) Nucleoside
B) Nucleotide

C) Nucleic acid
D) Ribotide

153) gg 37U] I AT ThgT STl & ToTEH USaTST YIR Y FATSCIoTel Jobel lelfeich AtfaTeh T SST ST &2

A) wgFd3iaTgs
B) sqferaierss
C) =gfaers vhas
D) Trzaerss

154) Thrombocytes are also known as:

A) White Blood Cells
B) Red Blood Cells
C) Platelets

D) Collagens

154) GFEATSC i fohd 31T AT T 3T ST 11T 872

A) ad TFd AT
B) arer 3o IR
C) wdcare
D) sttt

155) The growth hormone which brings about the enhancement of amino acid transport through
the cell membrane in humans and is secreted by the anterior lobe of the pituitary gland is

A) Somatotropin
B) Guanylin

C) Hepcidin

D) Orexin
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155) ag Taehre gTafer Sit HosaT H AT Heoll & ATeds 4 3w TS aRags i derar &ar g 3R
Tegedt 1T & qdehrel olle ganT drfdd giar &, oot &

A) g
B) sruamsfoe
C) gfad=
D) 3iereiet

156) The marker enzyme present in the mitochondria is:

A) Acid phosphatase

B) Beta-D-glucuronidase

C) Beta-N-acetyl-D-hexosaminidase
D) Cytochrome oxidase

156) ATSCIHITSAT 7 Hig AT TTSH &

A) TfaE wIEweH

B) dfrer-D-e@RIssH

C) drer-N-vfafes-D-grarardi-zg
D) argeieia sifaiisst

157) Which among the following options is NOT a water soluble vitamin?

A) Vitamin B2
B) Vitamin B3
C) Vitamin C
D) Vitamin D
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157) fe=faf@d fashedl & @ shiet A1 arell 7 gerateiier faerae =16l &2

A) fgerfa= B2
B) fgerfaer B3
C) af@=
D) faerfa=r D

158) Which among the following options is the diagnostic enzyme for acute pancreatitis?

A) Hexokinase

B) Serum Amylase
C) Vinblastin

D) Glucokinase

158) fas=1foif@d 7 & sieT AT Aehed I ALY & forv i TomsH 872

A) graiferaa
B) ¥rer watge
C) Retearaies
D) soniferarer

159) Which one of the following urine test procedures consist of Freezing point depression
devices?

A) Hydrometry test

B) Specific gravity test
C) Refractive index test
D) Osmolality test

159) &=t & @ ahleT €Y 7 G&T0T FishaT H Teieh g aeTaeT ITRTOT EIclT &2

A) gregiadr exe
B) fafrse areca wdvator

C) 3rqacter gaeie TaTor
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D) sirerenfardy e

160) The Ministry of Health and Family Welfare in India has launched the Weekly Iron and Folic
Acid Supplementation (WIFS) Programme, whose objective is to:

A) Reduce the prevalence and severity of anaemia in adolescent population (10 - 19 years)
B) Reduce the prevalence and severity of malnutrition in children (3 - 12 years)

C) Blindness eradication

D) Scurvy prevention

160) AR & e AR IRER HeI107T HATT o ATcdlfgs IR 3R Bifels tfis Iicta# e
(WIFS) ishe & TohaT 8, ToIeehT 32T 8

A) Rl 3TETEY (10 - 19 aY¥) & TR Y sargendr 31N 37T Y e el
B) seat (3 - 12 @) # Feor &t Sarashar A TR B Fo T

C) 3ienmue e

D) Trdf & Aepurs

161) The primary function of carbohydrates in a human body is to:

A) Maintain proper pH of the fluids in the body

B) Promote growth and repair of tissues of the body
C) Supply energy to the cells of the body

D) Provide structural framework to the body

161) AT R H FIefgsae o GrafAs S &

A) efiT # et geraf &1 3R pH a=TT I@a
B) 2RR & et T 9T 3R AWFAT 1 Ferar el
C) el &1 RT3 Fr FaAT i 3Tt Fr

D) ok I ERaATcHS T UeTeT el

162) Which of the following nutrients is essential to prevent 'Goitre’ in humans?
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A) Calcium
B) Iron

C) Vitamin A
D) lodine

162) HeJsdT H NS o YhUTH & [T [Fa=1{afld & & et @1 6veh dea 3maedsh g2

A) e
B) 31ms<et

C) fgarfa=r A
D) amader

163) The antigen-binding site on the antibody is known as

A) Epitope
B) Hapten
C) Adjuvant
D) Paratope

163) TESTEI G VEIoTol-aUAhRT HIST I FAT T ST 872

A) Tdidg
B) fuee
©) vsgawe

D) #reig

164) Which of the following options is a primary lymphoid tissue in mammals?

A) Thymus

B) Lymph node
C) Spleen

D) Follicle
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164) TATUIRAT H A=At f@d & & it IT [ahed Tah TrUfAS folFhiss Fds 82

A) erzara
B) forFw As
C) et
D) wifererer

165) Which type of immunity is present at birth of a human being?

A) Innate Immunity
B) Acquired Immunity
C) Adaptive Immunity
D) Specific Immunity

165) HIST & STod o TAY fohdl YhR T feReT Hise giell 872

A) StereTa wfareT
B) digred iRt
©) sregger Saam
D) faferse gfarem

166) Which of the following options is NOT a plant hormone?

A) Auxin

B) Thyroxine
C) Cytokinin
D) Gibberellin

166) fAFfaf@d & & #iaT a1 e urey g1 8T §7

A) 3itirae
B) amRifaraet
C) arsaifeiaa
D) o fae
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167) Read the following statements and choose the CORRECT option.
(i) The living state of an organism is an equilibrium state.
(i) Without metabolism there cannot be a living state.

A) (i) is TRUE and (ii) is TRUE
B) (i) is TRUE and (ii) is FALSE
C) (i) is FALSE and (ii) is TRUE
D) (i) is FALSE and (ii) is FALSE

167) AT et @l 9& AR TET fashed T
(i) TordiY Sita & Foflar 3TaEAT Teh Hclolel T ITAEATE |
(ii) TATTT & TIAT I TSlT 3TEAT AGT & AehelT|

A) (i) & & 3 i) adr ®
B) (i) @&y & 31 (ii) 1ol &
C) (i) 1ot & 3 (i) TET

D) (i) 3rera & 3R (ji) e &

168) The bacteria which helps in nitrogen fixation is

A) Salmonella

B) Streptococcus

C) Rhizobium

D) Haemophilus pertussis

168) it Sfaro] s ererel ferdienor & Hag #ar 8, et &

A) FreRlsTer

B) e¥uetaae

C) Trshfegs

D) gaftberer wegfea
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169) The combination of the apoenzyme and the coenzyme results in the formation of a functional
enzyme known as:

A) Isoenzyme
B) Polyenzyme
C) Holoenzyme
D) Hydroenzyme

169) TAIUSTSH 3K PITATSH h AT T Teh FRATcHD USITSH T ITSeT BT & ToTdl FIT gl ST 872

A) agEideTsH
B) qrefiussa
C) greiiamsa
D) grsgiissa

170) D-xylose is an example of which type of monosaccharide?

A) Pentose
B) Hexose
C) Heptose
D) Tetrose

170) D- STEaltST (D-xylose) fhd TR & AIARIHISS T Teh 3GI8I0T 572

A) deerer
B) et
C) yeera
D) 2t

171) Usually, the alcohol that is added for the precipitation of nucleic acids during isolation is:

A) Methanol
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B) Butanol
C) Phenol
D) Ethanol

171) 3MHAR W, aetaret & GR1eT wgfrerer UTAS & 31aTauT & folv fole=T fhd 3reehlger &l SISt ST
g?

A) Aerster

B) segesiter

C) Rpsiter

D) sdter

172) What is the role of permease in lactose operon in bacteria like Escherichia coli?

A) Degrade lactose
B) Transport lactose inside the cell

C) Detoxify lactose related metabolites
D) No specific role

172) TEIRTERET $ieTg S8 SeFERAT 7 elerelel ORI H RIATH I 8T 71 572

A) et #I fFtied aeaT &

B) 31 & 3icx JFelst &l uRag

C) st ¥ TIT T Y A TFHABIS T &
D) =g faferee syfaer 7di &

173) Which enzyme is responsible for separation of two strands of DNA before replication starts?

A) Pronase
B) Primase
C) Helicase
D) Ligase
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173) YA & g1t & Tgel DNA & & Tooleh ol 30T &l & ToIT diet |1 Tl fSiFAer 872

A) g

B) yrssiw
C) efoerar
D) aéerar

174) An essential fatty acid that is the precursor for eicosanoids is

A) Nervonic acid
B) Ascorbic acid

C) Arachidonic acid
D) Stearic acid

174) T 39T el tfas Y fr Shdass & o MR §, AT &

A) adffaes ofas
B) vraifes viis
C) wafraifaes vias
D) érafts vfas

175) The essential amino acid which CANNOT be synthesised inside the human body is:

A) Glycine
B) Proline
C) Leucine
D) Alanine

175) 98 3TaeTh 37T UTAS ST ATTd IR o 3 AN o761 1ohdT oIl HehdT g, [T &

A) Tarsias
B) tremms=
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C) ez
D) sraifarer

176) Among the following options, sulphur containing amino acid is:

A) Proline
B) Serine
C) Cysteine
D) Tyrosine

176) fAe=faf@d fashed & @ Gowt Jod 31 URAS i @1 8?2

A) shremseT
B) 3T
C) R
D) errifae

177) Large quantities of Heparin are usually stored and synthesized in

A) Spleen

B) Thymus

C) Mast cells
D) Leukocytes

177) 3THAAR o guReT T 987 AT b FIgd 3R T fFas forar Srarg?

A) faeel (Foeier) &

B) emgarar

C) Feqer SRRt (Fee o)
D) eerrarse #

178) Which among the following options is a pulmonary function test?

A) Colorimetry
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B) Manometry
C) Respirometry
D) Spirometry

178) eI faehedl # & st AT Teh PHFHHIT R TRIGTOT (AT herelel TEC) B2

A) FreNRaE
B) #savdy

C) yremad
D) Farsaierdy

179) The part of the brain that regulates respiration mechanism is

A) Cerebrum

B) Cerebellum

C) Medulla Oblongata
D) Spinal Cord

179) ATETSH T ag AT ST qTA dF i HAATIT AT &, e &
A) e

B) afaes

C) Aol 3ffscliatel

D) wargeter 18

180) Usually, after the intracerebral haemorrhage in patients the cerebrospinal fluid appears

A) Yellow in colour
B) Blue in colour
C) Green in colour
D) Colourless

180) 3THAR 9T, AT & SecrasIol TTFdFTT & d1¢ ATCTSHAT g g o1 F @S &ar g7
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A) drar T
B) afrer a1 &
C) gy Tt
D) a3t

181) Chyluria is a medical condition involving the presence of chyle in the urine stream, which
results in urine appearing in

A) Green colour
B) Pink colour

C) Copper Sulphate colour
D) Milky White colour

181) =R Ueh Faifehcar [Fufa § foras o7 1 U1 & =rser i 3UTEA gl 8, foreeh gRomATawy
e foner a1 & fewrs S g7

A) g1 ot

B) aeat Gt

C) @rax gerthe T

D) gferam athe; ot

182) McArdle's disease is usually caused by the deficiency of

A) Muscle isozyme
B) Debrancher enzyme
C) Acid maltase

D) Myophosphorylase

182) HFH3MST T STANY IMHAR W 5T 7 A fhT & FHolT & HROT gIer &7
A) Fa HTSASTSH

B) sk Gt A
C) ufaz AreesT
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D) FrerwREERIEe

183) The deficiency of which vitamin in a human body can lead to bleeding disorders?

A) Vitamin A
B) Vitamin B
C) Vitamin K
D) Vitamin E

183) AT R H 5T i@ H Fal & T@dara [THR g ohdT 872

A) fgerfae A
B) erf@=r B
C) fyerfast K
D) feif@=r E

184) Which vitamin is also known as Cholecalciferol?

A) Vitamin A
B) Vitamin Be
C) Vitamin D3
D) Vitamin E

184) & faeIf@a FI FrelhfeThid & 18 T Y ST ST 87

A) fgerdeT A
B) f3e1f@= Be
C) ferf@d=T Ds
D) fqerfast E

185) The incomplete antigens in a living body are known as:

A) Tens
B) Haptens
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C) Adjuvants
D) Antibodies

185) Teh ST NI 3 31907 UEISTe 1 T &gl STl 572

A &

B) #uee
©) wespae
D) wératdr

186) Read the following statements and choose the CORRECT option.
(i) Cell-mediated immunity is usually mediated by T lymphocytes.
(i) The humoral immunity is mediated by antibody molecules that are secreted by plasma cells.

A) (i) is TRUE and (ji) is TRUE
B) (i) is TRUE and (ii) is FALSE
C) (i) is FALSE and (ii) is TRUE
D) (i) is FALSE and (ji) is FALSE

186) eI AT el &l 9& AR TET fashed T |

(i) TT-ALIELAT TfRET AR W T FrFhIase! gaRT ALTEIT g

(ii) EFAR T SFITAEY T HEIEAAT VTS VI3 GART T ST § ST CellSHT HITRARIHT GaRT Afd 8l
gl

A) (i) & & 3R (i) Ter &

B) (i) &reY & 3R (ii) areraT &

C) (i) arerer & 3R (ii) wdr &

D) (i) areter & 31 (ji) et &

187) The cells that usually store fats are known as:

A) Adipocytes
B) Leucocytes
C) Monocytes
D) Lobocytes
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187) THAR UX IAT Sl HITET FHet dTell DITARIAT Sl FIT el ST &2

A) ufzaiase
B) cqrarge
C) A wrse

D) sherarse

188) Read the following statements and choose the CORRECT option.

() A typical enzyme molecule can convert 1,0000 substrate molecules per second.
(i) The rate of an enzymatic reaction increases with increased substrate concentration.

A) (i) is TRUE and (i) is TRUE

B) (i) is TRUE and (ii) is FALSE

C) (i) is FALSE and (ii) is TRUE

D) (i) is FALSE and (ii) is FALSE

188) fAFAT AT =t @l 9¢ AR TET fashed I |

(i) Teh T&HT USTTSH 3797 1,0000 HeHEET JHUT3 T Tick Hehs TRafclcl Y Fehell &
(i) & §T TeHET Higall & A Teh USATGHT TiclfohaT 1 & 56 STl g

A) (i) Tidr & 3R (i) T &
B) (i) @ér & 3R (ji) TTera &
C) (i) arera & 3 (i) TET &

D) (i) a1t & 3R (i) o &

189) In solid phase synthesis of peptides, carbodiimides are used as:

A) Deblocking reagents
B) Blocking reagents
C) Solid support

Page830f90



Setld : 61775 3 Technical Assistant (LAB) - Bio-Chemistry BATCH1 180CT2020

D) Coupling reagents

189) UTETSS & TS thol TATUT H FHISISHSIH FT 3TINT fohd T 7 foar Srar &7

A) Srsatfher Rusie
B) saiifeher Rusie
C) wifers wae

D) srafaier Rusie

190) Tay-Sachs disease is a neurodegenerative disorder in which deficiency of an enzyme results
in the accumulation of fats known as

A) Gangliosides

B) Phosphatidylcholines
C) Phosphatidylserines
D) Histamines

190) ¢-HeFH VT Teh wQUSTole e TahR & ToIHH Teh USTSH hi T o TROUMH FTRT GHT &l STHTT
gIaT &, 5 99T ST T el SIdr?

A) TrifTerararss

B) mrethdieiantelis
C) BrehErgrerargeT
D) feeevarsa

191) Which molecule is also known as "Catalytic RNA"?

A) mRNA

B) tRNA

C) Ribozyme
D) rRNA
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191) ford 3107 it "Fefafesh RNA" & &A1 & ST SITdT 872

A) MRNA
B) tRNA

C) yzaiemEA
D) rRNA

192) Southern blotting is a laboratory technique used to detect which of the following options in a
blood or tissue sample?

A) Specific DNA sequence
B) Specific RNA sequence
C) tRNA sequence only

D) mRNA sequence only

192) Hea1 sellfear Teh FAIRATEAT Teholleh & ToTHehT SUATAT, Teh Tehel AT Sicleh h ofefel A, oo H & ford
fQered & IdT ofReTTe & forw foham Srar g2

A) TRt TAfRIST DNA 31T 1
B) fereft faferse RNA 31eTshat &1
C) Faer tRNA 31T &l
D) &aer mRNA 3] &l

193) What is the significance of Shine—Dalgarno sequence in Prokaryotic translation?

A) It has complementary sequence to 16S rRNA and hence ribosomes attach to it
B) It facilitates translation of the mRNA while it is still getting synthesized

C) Itinitiates binding of tRNA to mRNA

D) It acts as a translation termination site

193) NehRANH AN H ATSH-SEINREAT Tfshe T FIT Hged g2

A) =g 16S rRNA T qTeh 3eTsha & A SHTAT TSSTATH S8 Heldel il o
B) g mRNA & il & Heg il § 59 Ig ™ a1 @I ar
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C) =g tRNA T mRNA F St &1 Q3T T &
D) g ush giTeRe A TS & §9 7 1 AT §

194) Choose the mutagenesis repair mechanism that identifies the mutated DNA segments based
on methylation pattern.

A) Excision repair

B) SOS repair

C) Mismatch repair

D) Recombination repair

194) 9% 3caRactotetet #AFA (RN Brarfafer get o fArarserer dest & 3mur o 3caRafda DNA
Gt T ggaT T g

A) e TR
B) sos Rk

C) frrga e

D) Repfraiereret R

195) Read the following statements and choose the CORRECT option.

() The G1 phase is a period in the cell cycle where cells do not divide further and exist in a
guiescent state.

(i) The division of the cytoplasm of a cell following division of the nucleus that occurs in mitosis and
meiosis, when a parent cell divides to produce two daughter cells is known as Karyokinesis.

A) () is TRUE and (ii) is TRUE
B) (i) is TRUE and (ii) is FALSE
C) (i) is FALSE and (ii) is TRUE
D) (i) is FALSE and (ii) is FALSE

195) AT Y=t @l 9& AR TET fashed I

(i) G1 W, AT Teh 3 Ten 31T & STaT HITRABTT 37T AT AT 8y & 311 v [ATSha sraear &
Allg gl &
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(ii) ATSCICAATSH T TATTeT ST AT o [AHTSTeT o S1g FAFACT N HUFACT H §IdT &, ST Teh AT
AT IR aF 9T FIFRAFI3M T TFATOT Fet & forw At gy &, FrRfa T Fgard &

A) (i) adr & 3R (i) T &
B) (i) @ér & 31 (ii) rereT &
C) (i) arerer & 3 (i) FEY &
D) (i) 3reret & 31 (ii) T &

196) Albumin, alpha-1 globulin, beta globulin, and gamma globulin are electrophoretic fractions of

A) Amylase

B) Amino acid
C) Serum protein
D) Fatty acid

196) Uesy AT, 31eWhl-1 Telsgfoled, et Telsg el 3R AT Tt Ig fole=t H § *lT § fAheq &
SolFCIhIR e 32T 872

A) ufdrerst

B) ufa= vfas

C) IR wiéeT

D) %ér ufars

197) In humans, uptake of which of the following nutrients can significantly reduce the risk of neural
tube defects (NTDs), such as anencephaly and spina bifida during pregnancy?

A) Sodium

B) Phosphorus

C) Folic acid

D) Cobalt

197) FeIsaT &, a1 # @ 5 dIveh e & 60T I, ITHTGEAT & R Ueiedthelt X s fafther
SH =Tl TIF Al (NTDs) & SNTEH T HIDT §G deh HH [l ST el 872
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A) arfzas

B) wiewRa
C) mfas vfag
D) shamee

198) Viral replication is usually inhibited with the help of:

A) Interleukins

B) Antigens

C) Interferons

D) White Blood Cells

198) IR G id AR W et fohe faened i Tgrardr & gfasferd g g2
A gexfrew

B) véreat

C) gextiar

D) arge sofs At

199) The hormone Auxin is usually synthesized using a precursor known as:

A) Tyrosine
B) Tryptophan
C) Histidine
D) Glycine

199) gTAfeT 3T I 3MHGR W T NadR FT 3YANT lah TN har SI1ar §, 3 [T shgarar
&

A) TR

B) fecerther

C)mﬂ'

D) ECIER G
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200) Which of the following intermediates are involved in biosynthesis of ascorbic acid in
mammals?

A) L-GalLDH (Galactonolactone dehydrogenase)
B) L-GalDH (Galactose dehydrogenase)

C) L-GalL (Galactonolactone)

D) L-GulL (Gulonolactone)

200) TATLTRAT H TThITeeh TIAS & Saaeyur # Fefaf@d & @ sl @ #eaadr (SexHzue)
AT 872

A) L-GalLDH (Fremeresiiaeels Sgesreiaig)

B) L-GalDH (IeTeraid Sgssrsied)
C) L-GalL @eeeistoeres)
D) L-GuIL QEIgIEET D)

Page890f90



Technical Assistant (LAB) - Bio-Chemistry BATCH1 180CT2020

Setld: 61775 3

61775 3

Question Paper No:

Answer Key:

QOlojo|jlojpn|C|Clo|lajlc|lo|C|C|Oo|lolojOlO|m|O
A N NI T OO OI~N[O0O|O| O A N M LOLIOI~MNO|O | O
| 0| 0| O[O OO OO OOD|OOD|IOO|OO|OOOOIO|O)| O | O
—A |l A A A | A | A A A | A | A | A | A | A | A | A A A A || N
Q< <|o|C|lajlaojln|ajC|lo|ojla|C|C|lnjo|jlo|jlo|C|Iap|Oo|Ojo|lO|lOlO|lOI<
A N[ T OO0V |O[d| N MO0 O| A NI LNOIMN~MNIO|O| O
O IO O OO O oo o oo | M~~~ [DM~]0
A A A A A A A A A A A A A A A A A A A A A A A A | A | A A| A | A | A
Nni<imn|<|<|<|lOlnn|lo|lOo|l<lmm|lAalo|<|alolalolal<lm|lOlOlm|O|lm
A N NI T OO I~MNO|O| O A N M| IO I~NOOD|O| A N MM IS IO~ O
N N N N[N N N N[N[OO OO OO O[O O OO OO M I 9 7 9 | 9|1 9[9[ S | S| < | 1o
Al A | A | A | A | A | A | A | A | A | A | A | A | A | A | A | A | A | A | A | A | A| A| A|A| A | A | A | A |
Qoo Ol ||| AOld|mjo| |||l Ol Ol AO|]O|lO| || m
A N[N T OO[O(I~MNO0O|HW|O|d| N MDD I IO O|I~MNO0O(DDO| A NI OO~ )| O
o/ ooocoloooooo)oojlocojojlojlojloojlolcojlo oo o|ldA|dA|dAdA| A | A | A A | d|d| d| N
A A A A A A A A A A A | A | A | A | A | A A | A| A | A
A< Aal<|lo|l<|loOnn|<m|<|laOloO|lO|lO|<|Omiominm|AO|<|m|jOojlm|<C|O|O
A N[ T O[O O0O|OWD|IO[ AN M I IO OO O| AN T IO~ )| O
OO O | O OV O OVl oo |~~~ O|0O|0O|O|00| O
| <<|<<|<|ala|<|o|ojlo|<|lolao|<|olojlaolnmo|<|<|lojmj<|lO|OlO|O]O
A N NI T OO OISO O A N M-I LIOIMNMNOO|O A N MO | O
N MO MO MO O O MO O M S 15959 ([ 9 | 9 1 5| 9([ S | S| 10|10 (W (W | w|w(w ([ |w|w|o
nojl<|<|lolo|loln|ojlpnln|olm|jo|lolo|lo|<dmjo|lajlo|lo|lajl<dlmjo|LC|<C|AO
A N M| T OO I~MNO|O|O A N M-I LIOIMOO|IO A NI ILIOIMN|O|O | O
A A | A A A A | A | A | A A N N | N N N N N/ NN XN OM

Page900fo0



	Template for PYP PDFs - Acrobat PDF - 1st page - Black.pdf
	Blank Page




